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U.G. DEGREE EXAMINATION - JUNE 2021  

CORPORATE SECRETARYSHIP 

FIRST YEAR 
 

PRINCIPLES OF MANAGEMENT 

 

Time: 3 Hours                                                 Maximum Marks: 75 

 

PART - A                (3 x 5 = 15 Marks) 

Answer any THREE questions. 

1. State the various approaches of management. 

 eph;thfj;jpd; gy;NtW mZFKiwfisf; $Wf. 

2. What are strategies? 

 cj;jpfs; vd;why; vd;d? 

3. What is delegation of authority? 

 mjpfhug; gpujpepj;Jtk; vd;why; vd;d? 

4. Define recruitment. 

Ml;Nrh;g;ig tiuaWf;fTk;. 

5.  State the elements of co-ordination. 

 xUq;fpizg;gpd; $Wfisf; $Wf. 

PART - B                        (4 x 15 = 60 Marks) 

Answer any FOUR questions. 

6. “Is management an art or a science?” - Comment. 

“Nkyhz;ik vd;gJ xU fiy my;yJ mwptpay;”- fUj;J. 

 7.  Explain the features of management. 

 eph;thfj;jpd; mk;rq;fis tpsf;Ff. 
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8. Discuss the nature of planning. 

 jpl;lj;jpd; jd;ik gw;wp tpthjpf;fTk;. 

 9.  Explain the principles of Management by objectives. 

 eph;thfj;jpd; nfhs;iffis Fwpf;N fhs;fshy; tpsf;Ff. 

10.  Describe the types of organization. 

 mikg;G tiffis tpthpf;fTk;. 

11.  Explain the different sources of recruitment. 

 gzp mkh;jYf;fhz ntt;NtW Mjhuq;fis tpsf;Ff. 

12.   Describe the various techniques of effective co-ordination. 

 gaDs;s xUq;fpizg;gpd; gy;NtW El;gq;fis tpthpf;fTk;. 
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U.G. DEGREE EXAMINATION - JUNE 2021 

 

 CORPORATE SECRETARYSHIP   

FIRST YEAR 

 

PRINCIPLES OF MANAGEMENT 

Time: 3 Hours            Maximum Marks: 70 

 

  PART - A                               (3 x 3 = 9 Marks) 

Answer any THREE questions 

 

1. Who is called manager? 

 ahh; Nkyhsh; vd;W miof;fg;gLfpd;whh;? 
 

2. What are the advantages of planning? 

 jpl;lkpLjypd; ed;ikfs; vd;d? 
 

3. List out the importance of organisation. 

 mikg;gpd; Kf;fpaj;Jtj;ij gl;baypLf. 
 

4. Mention the external sources of recruitment. 

Ms;Nrh;g;gpd; ntspg;Gw Mjhuq;fis Fwpg;gpLf. 
 

5. How is control important in Management? 

 eph;thfj;jpy; fl;Lg;ghL vt;thW Kf;fpakhdJ? 
 

PART - B                         (3 x 7 = 21 Marks) 

Answer any THREE questions 

 

6. Is management an art or science? – Explain. 

Nkyhz;ik vd;gJ xU fiy my;yJ mwptpayh? - tpsf;Ff. 
 

7. What are the characteristics of Planning? 
 

jpl;lkpLjypd; gz;Gfs; vd;d? 
 

8. List out the various principles of organisation. 
 

mikg;gpd; gy;NtW nfhs;iffis gl;baypLf. 
 

9. Explain the need for training. 
 

gapw;rpapd; mtrpaj;ij tpsf;Ff. 
 
 
 

10. Differentiate co-ordination and co-operation 
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xUq;fpizg;G kw;Wk; xj;Jiog;ig NtWgLj;Jf. 

 

 

PART - C                      (4 x 10 = 40 Marks) 

Answer any FOUR questions 

 

11. Discuss the Henri Fayol’s Principles of Management. 

n`d;wp /gNahypd; eph;thf nfhs;iffis gw;wp tpthjpf;f. 
 

12. Discuss the various steps involved in the process of planning. 
 

jpl;lkply; nray;ghl;by; <Lgl;Ls;s gy;NtW eltbf;iffisg; gw;wp 

tpthjpf;f. 

 

13. Explain the process or organisation. 

 
mikg;gpd; nray; Kiwia tpsf;Ff. 

 

14. Explain the various methods of training. 
 

gapw;rpapd; gy;NtW Kiwfis tpsf;Ff. 

 
15. List out the importance of controlling. 
 

fl;Lg;gLj;Jjypd; Kf;fpaj;Jtj;ij gl;baypLf. 
 

16. What are the different types of barriers of communication? Explain. 

jfty; njhlh;gpy; cs;s ntt;NtW jilfs; vd;d? tpsf;Ff. 
 

17. Discuss the qualities of a leader. 
 

xU jiythpd; Fzq;fis tpthjp. 
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U.G. DEGREE EXAMINATION — JUNE 2021  

CORPORATE SECRETARYSHIP 

FIRST YEAR 

COMPANY LAW 

 

Time: 3 Hours                                             Maximum Marks: 75 

 

PART - A                            (3 x 5 = 15 Marks) 

Answer any THREE questions. 

 

1. Define “Company”. State its objectives. 

 ‘epWtdk;”tiutpyf;fzk; jUf.  mjd; Nehf;fq;fis $Wf. 

2. List out the functions of a Promoter. 

 Njhw;Ftpg;ghsuJ gzpfis thpirg;gLj;Jf. 

3. What do you mean by share-certificate and share-warrant? 

 gq;Fr;rhd;wpjo; kw;Wk; gq;fhiz vd;why; vd;d? 

4. Write short notes on Resolution. 

jPh;khdk; gw;wp rpWFwpg;G tiuf. 

5.  Distinguish winding up from dissolution. 

 epWtdf; fiyg;G vt;thW epWtd fiyj;jpypUe;J NtWgLfpwJ. 

PART - B                              (4 x 15 = 60 Marks) 

Answer any FOUR questions. 

 

6. Discuss the characteristics of a company. 

epWtdj;jpd; rpwg;gpay;Gfis tpthp. 

7.  Briefly explain the various stages with regard to formation of a 

company. 

 epWtd Njhw;Wtpj;jypd; gy;NtW gbfis RUf;fkhf tpsf;Ff. 
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8. Explain the contents of prospectus. 

 jftywpf;ifapd; cs;slf;fj;ij tpsf;Ff. 

 9.  Describe the various kinds of meetings of a company. 

 gy;NtW tifahd epWtd $l;lq;fis tpthpf;f. 

10.  Discuss the voluntary winding up of a Company. 

 epWtdj;jpd; jd; tpUg;gf;fiyg;G gw;wp tpthp. 

11.  Explain the alteration of memorandum of Association. 

 mikg;G KiwNal;bd; khWjy; nra;tJ Fwpj;J tpthpf;f. 

12.   Discuss the functions of secretary on winding up of a company. 

 epWtd fiyg;gpy; nrayhpd; gzpfs; Fwpj;J tpthp. 
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U.G. DEGREE EXAMINATION - JUNE 2021 

 

CORPORATE SECRETARYSHIP 

 

FIRST YEAR 

 

COMPANY LAW 

Time: 3 Hours              Maximum Marks: 70 

 

    PART - A                 (3 x 3 = 9 Marks) 

Answer any THREE questions 

 

1. Define the term company. What are its Characteristics? 
 epWtdk; vd;w nrhy;iy tiuaWf;fTk;. mjd; gz;Gfs; vd;d? 
 

2. What is government Company? 
 muR epWtdk; vd;why; vd;d? 
 

3. Define a Promoter. 
 xU tpsk;gujhuiu tiuaW. 
 

4. What is share certificate? 
 gq;F rhd;wpjo; vd;why; vd;d? 
 

5. What is winding up company? 
 epWtdk; Kbj;J tpLtJ vd;why; vd;d? 
 

 PART - B                             (3 x 7 = 21 Marks) 

Answer any THREE questions 

 

6. What is the difference between a Private LTD and a Public LTD Company? 
xU jdpahh; ypkpnll; kw;Wk; xU nghJ ypkpnll; epWtdj;jpw;Fk; vd;d 
tpj;jpahrk;? 

 

7. “A certificate of Incorporation is Conclusive evidence that all the requirements 

of the company’s act have been complied with”. Elaborate. 

“,izg;gjw;fhd rhd;wpjo; vd;gJ epWtdj;jpd; nray;ghl;bd; midj;J 
NjitfSk; ,zq;fpd vd;gjw;fhd cWjpahd rhd;W” tphpthf. 

 
8. What are the Contents of a Memorandum of Association, how can you Alter the 

Contents of Memorandum of Association? 
rq;fj;jpd; xU Fwpg;gpd; cs;slf;fq;fs; vd;d rq;fj;jpd; nkNkhuhz;lj;jpd; 
cs;slf;fq;fis vt;thW khw;wyhk;? 

 
9. Discuss the Doctrine of Constructive Notice and Doctrine of Ultra Vires. 

Mf;fG+h;tkhd mwptpg;gpd; Nfhl;ghL kw;Wk; my;l;uhtah;fspd; Nfhl;ghL gw;wp 
tpthjpf;fTk;. 
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10. Discuss on minutes and Agenda. 
 epWtdj;jpd; epkplq;fs; kw;Wk; epfo;r;rp epuy; gw;wp tpthjpf;fTk;. 
 
 

  PART - C                               (4 x 10 = 40 Marks) 

Answer any FOUR questions 

 

11. Discuss the Secretaries Duties with regard to Preparation of minutes and 

reports. 

epkplq;fs; kw;Wk; mwpf;iffs; jahhpj;jy; njhlh;ghf nrayhsh;fspd; 

flikfisg; gw;wp tpthjpf;fTk;. 

 

12. Distinguish between Transfer and Transmission of Shares. To what extent may 

a company refuse registration of Transfer? 

 ,lkhw;wj;ij gjpT nra;a xU epWtdk; ve;j mstpw;F kWf;ff;$Lk;? 
 
13. What are the requisites for dematrialization of Shares? Also, explain its process. 

 gq;Ffis bkBhpaiyNr\d; nra;tjw;fhd Njitfs; ahit? 
 
14. “Every shareholder of a company is known as a member while every member 

may not be known as a Shareholder”. Comment. 

“xU epWtdj;jpd; xt;nthU gq;FjhuUk; cWg;gpduhf mwpag;gLfpwhh;. mNj 

Neuj;jpy; xt;nthU cWg;gpdUk; gq;Fjhuuhf mwpag;gl khl;lhh;fs;. 

 

15. What are the various modes of Winding Up of a Company? 

 xU epWtdj;jpd; epWtdk; %ly; gy;NtW Kiwfs; ahit? 
 
16. Discuss in detail various types of debentures. 

 gy;NtW tifahd fld; gj;jpuq;fis tphpthf tpthjpf;fTk;. 
 

17. What is a Foreign Company? Discuss the obligations of a Foreign Company 

under the Companies Act 2013. 

epWtdq;fs; rl;lk; 2013-,d; fPo; xU ntspehl;L epWtdj;jpd; flikfisg; 

gw;wp tpthjpf;fTk;. 
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U.G. DEGREE EXAMINATION - JUNE 2021  

FIRST YEAR 

CORPORATE SECRETARYSHIP 

FINANCIAL ACCOUNTING 

 

Time : 3 Hours                                             Maximum Marks : 75 

 

PART - A                                   (3 x 5 = 15 Marks) 

Answer any THREE questions. 

 

1. Give Journal entries 

 a) Commenced the business with capital of Rs.75,000. 

 b) Paid into bank Rs.25,000. 

 c)  Purchased goods from Mr.X on credit Rs.45,000. 

 d) Sold goods to Mr.Y for case Rs.27,500. 

 Fwpg;Ngl;L gjpTfs; jUf. 

 a) &.75>000 %yjdk; ,l;L tpahghuk; Muk;gpf;fg;gl;lJ. 

 b) tq;fpapy; nrYj;jpaJ &.25>000 

 c)  X vd;gtuhplkpUe;J flDf;F ruf;F nfhs;Kjy; &.45>000 

 d) Y vd;gtUf;F nuhf;fj;jpw;F ruf;F tpw;wJ &.27>500. 

2. Write down the rules for debit and credit with examples. 

 gw;W kw;Wk; tuT rk;ke;jkhd tpjpfis cjhuzq;fSld; vOJf. 

3. ABC & Co. purchased a plant for Rs.5,00,000.  Depreciation is to be provided  

 annually according to the straight line method.  The useful life of the plant is 

 10 years and the residential value is Rs.50,000.  Find out the rate of  

 depreciation. 
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 ABC & Co. &.5.00.000 kjpg;Gs;snghwp tif xd;W thq;fpaJ.  mr;nrhj;jpd;  

 kPJ Mz;LNjhWk; Neh;Nfhl;L Kiwapy; Nja;khdk; mDkjpj;jJ.  mg;nghwp  

 tifapd; gadspf;Fk; fhyk; 10 tUlq;fs;.  gadw;w epiyapy; mjd; ,Wjp 

 kjpg;G &.50>000 vdpy; Nja;khdk; tpfpjj;ijf; fzf;fpLf. 

4. State the limitations of single entry system. 

xw;iwg ; gjpT Kiwapd; FiwghLfis tpsf;fTk; Fwpg;gpLf. 

5.  State the various types of accounting conventions. 

 fzf;fpaypd; kuGfspd; gy;NtW tiffis Fwpg;gpLf. 

                                 PART - B                                 (4 x 15 = 60 Marks) 

Answer any FOUR questions. 

 

6. From the following balance of Mr. A, prepare Trading account, Profit and 

Loss account and Balance sheet as on 31.12.2010. 

Particulars Amount 

Rs. 

Particulars Amount 

Rs. 

Capital 36,000 Bills payable 2,528 

Creditors 8,720 Sales 78,182 

Debtors 3,885 Loans (Cr) 12,000 

Salaries 4,000 Machinery 10,000 

Discount allowed 1,000 Stock (01.01.2010) 9,945 

Postage 273 Purchases 62,092 

Bad debts 287 Wages 4,300 

Interest paid 1,295 Buildings  23,780 

Insurance  417 Fixtures 16,156 

Adjustments: 

 a) Stock on 31.12.2010 Rs.14,300 

 b) Allow 5% interest on capital 

 c) Charge depreciation on machinery 25% and buldings 5%. 

31.12.2010-y; KbtilAk; Mz;by; Mr. A mth;fspd; fPo;fhZk; ,Ug;GfspypUe;J 

,Wjp fzf;Ffis jahhpf;fTk; 

tpguk; njhif 
&. 

tpguk; njhif 
&. 

%yjdk; 36,000 nrYj;Jtjw;Fhpa khw;WrPl;L 2,528 
fldPe;Njhh;fs; 8,720 tpw;gid 78,182 
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fldhspfs; 3,885 fld;(t) 12,000 
rk;gsk; 4,000 ,ae;jpuk; 10,000 
js;Sgb mDkjpj;jJ 1,000 ruf;F (01.01.2010) 9,945 
jghy; nryTfs; 273 nfhs;Kjy; 62,092 
tuhf;fld; 287 $ypfs; 4,300 
tl;b nrYj;jpaJ 1,295 fl;lblq;fs; 23,780 
fhg;gPL 417 nghUj;Jfs; 16,156 
rhpfl;ly;fs;: 

 a) 31.12.20100y; ruf;fpUg;G &.14>300 

 b) %yjdk; kPJ 5% mDkjpf;fTk; 

 c) ,ae;jpuj;jpd; kPJ 25%> fl;blk; kPJ 5% Nja;khdk; ,Lf. 

 7.  X purchased a machinery for Rs.90,000 on 01.04.2015.  They spent Rs.10,000 

for installation charges.  But the machinery was bought into use from 01.10.2015.  

It further purchased a machinery costing Rs.20,000 on 01.01.2018.  Accounts are 

closed 31st march every year.  Depreciation is to be provided at the rate of 10% p.a. 

on written down value method.  Prepare machinery account and depreciation 

account for three years. 

 2015> Vg;uy; 1 md;W X &.90>000 kjpg;Gs;s ,ae;jpuj;ij thq;fpdhh;.  mij 

epWTtjw;fhd nryTfs; &.10>000.  me;j ,ae;jpuk; 2015 mf;Nlhgh; 1 md;W Kjy; 

gad;gLj;jg;gl;lJ.  me;epWtdk; 01.01.2018 md;W &. 20>000 kjpg;Gs;s kw;nwhU 

,ae;jpuj;ij thq;fpaJ.  Mz;LNjhWk; Nja;khdk; khh;r; 31y; fzf;Ffs; Kbf;fg; 

ngWfpd;wd.  Mz;LNjhWk; Nja;khdk; 10% Fiwe;J nry; kjpg;G Kiwapy; 

ePf;fg;gl;lJ.  ,ae;jpuf; fzf;ifAk;> Nja;khdk; fzf;ifAk; %d;W Mz;LfSf;F 

jahhpf;fTk;. 

8. Mr.P. started business with Rs.150000 as capital as 01.04.2010.  During the 

year, he has withdrawn at the rate of Rs.3000 per month.  He introduced Rs.40000 

as additional capital.  His position on 31.03.2013 was as follow. 

 Particulars   Rs.  Particulars   Rs. 

 Bank Balance  15000  Cash in hand  20000 

 Stock    85000  Sundry creditors  30000 

 Sundry Debtors  75000  Prepaid expenses    4000 

 Machinery   45000   

 He maintains books under single entry system.  Find out his profit or loss for 

the year 2010-2011. 
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 Mr. P, 2010 Vg;uy; 1 md;W &.150000 KjYld; njhopy; njhlq;fpdhh;.  mth; 
jdJ nrhe;j cgNahfj;jpw;fhf khjk; &. 3000 tPjk; jpUk;g vLj;Jf;nfhz;lhh;.  
me;epjpahz;by; mth; ,l;l $Ljy; Kjy; &.40000 khh;r; 31>2011 md;W mtuJ epiy 
fPo;fz;lthW ,Ue;jJ. 

     &.  

tq;fp ,Ug;G:     15000 

ruf;fpUg;G:    85000 

gw;gy fldhspfs;   75000 

,ae;jpuk;    45000 

ifapUg;G nuhf;fk;   20000 

gw;gy fldPe;Njhh;   30000 

Kd;$l;b nrYj;jpa nryTfs;  4000 

mth; jdJ VLfis xw;iwg;gjpT Kiwapy; guhkhpj;J tUfpwhh;.  2010-11 Mk; 
Mz;bw;fhd mtUila ,yhgk; my;yJ el;lj;ij fzf;fpLf. 

9.  From the following information, prepare departmental trading profit and loss  

 for six months ended 31.03.2009.  

Particulars Dept.-A 

  Rs. 

Dept. - B 

 Rs. 

Dept. - C 

 Rs. 

Purchases 140700 90600 64400 

Sales 150000 100000 25000 

Closing stock 600100 20300 44600 

 Salaries and wages : Rs. 48000 

Sundry expenses  : Rs.11000 

Rent : Rs.10800 

 Additional information: 

 a) Salaries and wages are to be allocated in 1:2:1 

 b) Rent of Dept. C is Rs.500 per month, balance in equal among Dept. -A and  

     Dept. -B. 

 c) Sundry expenses are to be allocated in sales ratio.  

   

 fPo;tUk; jfty;fs; nfhz;L 31.03.2009 cld KbtilAk; MWkhj fhy 

Jiwthhp tpahghu ,yhg el;lf; fzf;F jahhpf;fTk;. 

tptuq;fs; Jiw - A 

  Rs. 

Jiw - B 

 Rs. 

Jiw  - C 

 Rs. 
nfhs;Kjy; 140700 90600 64400 
tpw;gid  150000 100000 25000 
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,Wjpr;ruf;F 600100 20300 44600 
 

rk;gsq;fs; kw;Wk; $yp : &. 48000 

,ju nryTfs; : &.11000 

thlif : &.10800 

$Ljy; tptuq;fs;: 

a) rk;gsq;fs; kw;Wk; $yp 1:2:1 tpfpjj;jpy; gfpu Ntz;Lk; 

b) Jiw C d; thlif khjk; &.500> kPjKs;sit> Jiw - A kw;Wk; Jiw -B 

Mfpatw;wpw;F rkkhf. 

C) ,ju nryTfs; tpw;gid tpfpjj;jpy; gfpu Ntz;Lk;. 

 

10.  Distinguish between straight line method and written down value method of  

 depreciation. 

 Neh;Nfhl;L Kiwf;Fk;> Fiwe;J nry;kjpg;G Kiwf;Fk; cs;s NtWghl;il vOJf 

11.  Write a detailed note on Consignment and Joint venture. 

 Kfikf;Fk;> ,iztpid Fwpj;J tpthpf;fTk;. 

12.   What are the differences between Income and Expenditure and Profit & Loss 

 account? 

 tUkhd nrytpdf; fzf;fpw;Fk;> ,yhg e\;lf; fzf;fpw;Fk; ,ilNaAs;s  

 NtWghLfs; ahit? 
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U.G. DEGREE EXAMINATION - JUNE 2021 

 

CORPORATE SECRETARYSHIP 

 

FIRST YEAR 

 

FIANCIAL ACCOUNTING 

Time : 3 Hours               Maximum Marks : 70 
 

PART - A                           (3 x 3 = 9 Marks) 

Answer any THREE questions 
 

1. Define Accounting. 
 fzf;fpaiy tiuaWf;fTk;. 
 

2. What is bill of exchange? 
 ghpkhw;w kNrhjh vd;why; vd;d? 
 

3. What is the rule for real account? 
 cz;ikahd fzf;fpw;fhd tpjp vd;d? 
 

4. What is Joint venture? 
 $l;L Kaw;rp vd;why; vd;d? 
 

5. What is departmental accounts? 
 Jiwrhh; fzf;Ffs; vd;why; vd;d? 
 

   PART - B                                 (3 x 7 = 21 Marks) 

Answer any THREE questions 
 

6. What are adjustments? What is the need of making adjustments while 

preparing final adjustments? 
khw;wq;fs; vd;why; vd;d? ,Wjp khw;wq;fisj; jahhpf;Fk; NghJ 
khw;wq;fisr; nra;a Ntz;ba mtrpak; vd;d? 

 

7. What are the features of incomplete records? 
 KOikaw;w gjpTfspd; mk;rq;fs; ahit? 
 

8. Discuss the income and expenditure accounts. 
 tUkhdk; kw;Wk; nryT fzf;Ffs; tpthjpf;f. 
 

9. From the following calculate the amount of claim in respect of a fire occurred in 

a business on 31.12.99. 
 

 Rs. 

Sales (1.4.99 - 31.12.99) 12,00,000 

Purchase (1.4.99 - 31.12.99) 8,00,000 

Stock on (31.3.99) 2,00,000 
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gpd;tUtdtw;wpypUe;J 31.12.99 md;W xU tzpfj;jpy; Vw;gl;l jP tpgj;Jf;fhd 
chpikNfhuypd; msitf; fzf;fpLq;fs;. 
 

 Rs. 

tpw;gid (1.4.99 - 31.12.99) 12,00,000 

nfhs;Kjy; (1.4.99 - 31.12.99) 8,00,000 

ruf;Ffs; (31.3.99) 2,00,000 

10. Mr.Sathish purchased a second hand machine for ₹ 8,000 on 1st April 1990. He 

spent ₹ 3,500 on its installation. Depreciation is written of @ 10% p.a on the original cost. 

On 30
th

 June 1993, the machine was found to be unsuitable and sold for ₹ 6,500. Prepare the 

Machine account from 1990 to 1993 assuming that the accounts are closed on 31
st
 December 

ever year. 

  

jpU.rjP\; 1990 Vg;uy; 1-Mk; Njjp ₹ 8,000f;F xU ,uz;lhtJ if 

,ae;jpuj;ij thq;fpdhh;. mjd; epWtYf;F ₹ 3,500 nrytpl;lhh;. Nja;khdk;  

10% p.a mry; nrytpy;. 30 [_d; 1993 md;W> ,ae;jpuk; nghUj;jkw;wJ vd;W 

fz;lwpag;gl;L ₹ 6,500 f;F tpw;fg;gl;lJ. xt;nthU Mz;Lk; brk;gh; 31-Mk; 

Njjp fzf;Ffs; %lg;gLk; vd;W fUjp 1990 Kjy; 1993 tiu ,ae;jpuf; 

fzf;ifj; jahhpf;fTk;. 

 
 

     PART - C                       (4 x 10 = 40 Marks) 

Answer any FOUR questions 

 

11. What are the causes of incomplete record? 

KOikaw;w gjptpd; fhuzq;fs; ahit? 
 

12. Ajay keeps his books under single entry system. The assets and liabilities as on 

date were. 
 

 1977  ₹ 1978  ₹ 

Cash in hand 250 300 

Cash at Bank 2,750 2,200 

Stock 21,000 18,000 

Debtors 7,500 12,000 

Furniture 1,750 1,575 

Plant 15,000 25,000 

Creditors 18,000 23,000 
 

m[a; jdJ Gj;jfq;fis xw;iw EioT Kiwapd; fPo; itj;jpUf;fpwhh;. 

Njjpapd; gb nrhj;Jf;fs; kw;Wk; nghWg;Gfs;. 

 
 1977  ₹ 1978  ₹ 

ifapy; gzk; 250 300 
tq;fpapy; nuhf;fk; 2,750 2,200 
ruf;Ffs; 21,000 18,000 
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fldhspfs; 7,500 12,000 
jsghlq;fs; 1,750 1,575 
Miy  15,000 25,000 
fld; toq;Feh;fs; 18,000 23,000 

 

13. A fire occurred on 1.9.93 in a godown of  Mr.Ganesan. From the following 

particulars find out the claim to be loged. 

 

Particulars ₹ 

Stock on 1.1.93 25,300 

Purchases from 1.1.93 to date of fire 50,000 

Sales from 1.1.93 to date of fire 1,56,000 

Manufacturing expenses and wags 60,000 

Goods taken by ganesan at cost 2,500 

Rate of gross profit on cost 30% 

Value of salvaged goods 3,600 

 
jpU. fNzrdpd; NfhlTdpy; 1.9.93 md;W jP tpgj;J Vw;gl;lJ gpd;tUk; 
tptuq;fspypUe;J gjpT nra;a Ntz;ba Nfhhpf;ifia Kbf;fTk;: 

 

tpguk; ₹ 

1.1.93 ruf;Ffs;  25,300 

1.1.93 Kjy; jP tiu nfhs;Kjy;  50,000 

1.1.93 Kjy; jP tiu tpw;gid 1,56,000 
cw;gj;jp nryTfs; kw;Wk; Ntfq;fs; 60,000 
nrytpy; tpehafh; vLj;j nghUl;fs; 2,500 
nrytpy; nkhj;j ,yhg tpfpjk; 30% 
kPl;fg;gl;l nghUl;fspd; kjpg;G 3,600 

 

14. Explain the steps in the process of accounting. 

 fzf;fpay; nray;ghl;bd; gbfis  tpsf;Fq;fs;. 
 
15. What are the main causes for depreciation? 

 Nja;khdj;jpw;F Kf;fpa fhuzq;fs; ahit? 
 
16. Discuss the purpose of fire insurance. 

 jP fhg;gPl;bd; Nehf;fk; gw;wp tpthjpf;fTk;. 

 

17. Discuss about receipts and payments account and Capital and Revenue 

Expenditure. 

urPJfs; kw;Wk; nfhLg;gdT fzf;F kw;Wk; %yjd kw;Wk; tUtha; nryT 

gw;wp tpthjpf;fTk;. 
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U.G. DEGREE EXAMINATION - JUNE 2021 

CORPORATE SECRETARYSHIP 

SECOND YEAR 

CORPORATE ACCOUNTING 

 

Time : 3 Hours                                             Maximum Marks : 75 

 

PART - A                             (3 x 5 = 15 Marks) 

Answer any THREE questions. 

 

1. Bring out the difference between Debetures and shares. 

 fld; gj;jpuq;fs; kw;Wk; gq;Ffs; ,ilNaahd NtWghLfis ntspf; nfhzh;f. 

2. A liquidator is entitled to receive remuneration @ 2% of the assets realised 

and 3% on the amount distributed among the unsecured creditors .  The 

assets realised Rs.35,00,000 against which the payment was made as follows: 

  Liquidation expenses  -  Rs.25,000 

  Preferential creditors  - Rs.75,000 

  Unsecured creditors  - Rs.15,00,000 

  Secured creditors  - Rs. 20,00,000 

Calculate the total remuneration payable to the liquidator. 

 

 xU fiyg;ghsh;> nrhj;Jf;fis tpw;W fpilf;Fk; gzj;jpy; 2% KOtJk; 

ghJfhf;fg;glhj fldPe;NjhUf;F nfhLf;f Ntz;ba gzj;jpy; 3% rk;gskhf ngw 
chpikg; ngw;Ws;shh;.  nrhj;Jf;fs; tpw;W fpilj;j &.35>00>000 &ghapypUe;J 
fPo;fhzgtw;iw nrYj;jpdhh;. 

fiyg;Gr; nryT       -  Rs.25,000 

  fldPe;Njhh;        - Rs.75,000 

  KOtJk; ghJfhf;fg;glhj fldPe;Njhh;  - Rs.15,00,000 

  KOtJk; ghJfhf;fg;gl;l fldPe;Njhh;      - Rs. 20,00,000 

 fiyg;ghsUf;F fpilf;f Ntz;ba nkhj;j rk;gsj;ij fzf;fpLf. 
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3. Give journal entries to record following transaction: 

 (i) Issue of Rs.20,000, 6% debentures at a discount of 10% redeemable at par. 

 (ii) Issue of Rs.20,000, 6% debentures at a discount of 10% and redeemable at  

      a premium of 10%. 

  fPo;fhZk; eltbf;iffSf;F Fwpg;Ngl;L gjpT jUf. 

(i)  &.20>000 kjpg;Gs;s 6% fld;gj;jpuq;fs; 10% tl;lj;jpy; ntspaplg;gl;L gpd;G 
Kfkjpg;gpy; kPl;fg;gl;lJ. 

(ii)  &.20>000 kjpg;Gs;s 6% fld;gj;jpuq;fs; 10% tl;lj;jpy; ntspspalg;gl;L gpd;G 

Kidkj;jpy; kPl;f;fgl;lJ. 

4. Briefly explain the pre requisites to be included in Managerial remuneration. 

eph;thf Cjpaj;jpy; Nrh;f;f Ntz;ba Kd;epge;jidfis RUf;fkhf 

tpsf;Fq;fs;. 

5.  ABC company issued 6000 equity shares of Rs.10each at a discount of Rs.1 

per share payable as Rs.2 on application, Rs.3 on allotment, Rs.3 on first call 

and balance on second call.  All the amounts are duly received .  Pass the 

journal entries in books of the company 

 ABC epWtdk; &.10 kjpg;Gs;s 6000 rhjhuz gq;Ffis &.1  js;Sgbapy; 
fPo;fz;l mbg;gilapy; nrYj;Jk;gb ntspapl;lJ.. tpz;zg;gj;jpd; Nghpy;&.3 xJf;fpd; 
Nghpy; &.3> Kjy; miog;gpd; Nghpy; &. 3 kPjpj;njhif ,uz;lhk; ,ilg;gpd; Nghpy; 
midj;J njhiffSk; Kiwg;gb ngw;wJ. 

 epWtdj;jpd; Gj;jfj;jpy; Kjw;Fwpg;Ngl;L gjpTfis jUf. 

 

 

 

 

 

 

 

 

PART - B                                (4 x 15 = 60 Marks) 
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Answer any FOUR questions. 

 

6. Arun Ltd agreed to absorb Raman Ltd as on 31.12.2018.  The Balance sheet 

of Raman Ltd was as follows: 

      Rs.           Rs. 

Share Capital    - 3,00,000 Fixed Assets   - 3,70,000 

(Shares of Rs.10 each) 

Reserves    - 1,40,000 Current assets  - 1,30,000 

3% debentures   -    50,000 

Sundry creditors   -    10,000 

 `   ---------------------------       ------------------------ 

   5,00,000        5,00,000 

----------------------------     ------------------------- 

The purchase consideration payable was: 

 (i) Arun cash payment of Rs.2.50 / share in Raman Ltd. 

(ii)  Issue of 45,000 shares of Rs.10 each at an agreed value of Rs.15 per share. 

(iii)  The issue of such an amount of fully paid 8% debentures of Arun Ltd at 96% as 

are sufficient to discharge the 3# debentures of Raman Ltd at a premium of 20%. 

 Show necessary ledger accounts to books of Raman Ltd. 

mUz; epWkk; uhkd; epWkj;ij 31.12.2018 md;W <h;j;Jnfhs;s xg;Gf; nfhz;lJ.  mUz; 
epWkj;jpd; ,Ug;G epiyf; Fwpg;G gpd;tUkhW. 

Rs.           Rs. 

gq;F nfhs;Kjy;   - 3,00,000 epiyr; nrhj;Jf;fs;  - 3,70,000 

(gq;F xd;W &.1 tPjk;) 

fhg;G    - 1,40,000  elg;Gr; nrhj;Jf;fs;  - 1,30,000 

3% fld;gj;jpuq;fs;  -    50,000 

gw;gy fldPe;Njhh;  -    10,000 

 `   ---------------------------       ------------------------ 

   5,00,000         5,00,000 

----------------------------     ------------------------- 

nfhs;Kjy; kWgad; fPo;fz;lthW nrYj;jg;gl;lJ. 

 (i) mUz; epWkj;jpy; cs;s xt;bthU gq;Ff;Fk; &.2.50 nuhf;fk; mspj;jy; 



4                                                            UG-A-338 
 

(ii) 45>000 rkgq;Ffs; &.10 Kfkjpg;GilaJ> &.15 vd tpiy   
xg;Gf;nfhs;sg;gl;L   mspj;jy;. 

(iii)  mUz; epWkj;jpd; 3% fld; gj;jpuq;fis 20% Kidkj;jpy; nrYj;j> 
vt;tsT   mUz; epWkj;jpd; 8% fld; gj;jpuq;fs; NjitNah mt;tsT 
fld; gj;jpuq;fis 96% kjpg;gpy; mspj;jy; 

mUz; epWkj;jpd; VLfspy; Njitahd NgNul;L fzf;Ffisf; fhl;Lf.  

 7.  Define Debentures.  Explain in detail various types of Debentures. 

 fld;gj;jpuq;fs; tiuaWf;fTk;.  fld; gj;jpuq;fspd; gy;NtW tiffis tphpthf 
tpsf;Ff. 

8. X Ltd was registered with an authorised capital of Rs.600000 in equity 

shares of Rs.10 each.  The following is its trial balance on 31st March 2008. 

Trial Balance of   “A”Ltd. 

   

   

   

Debit Balance Credit Balance 

 

Good will 25000 --- 

Cash 750 --- 

Bank 39900 --- 

Purchases 185000 ---- 

Preliminery Expenses 5000 --- 

Share Capital --- 400000 

12% debentures --- 300000 

Profit & Loss a/c(Cr) --- 26250 

Call in arrears 7500 --- 

Premises 300000 --- 

Plant 330000 --- 

Interim dividend 39850 --- 

Sales --- 415000 

Stock (1.4.2007) 75000 --- 

Furniture 7200 --- 

Debtors 87000 --- 

Wages 84865 --- 

General expenses 6835 --- 

Fright 13115 --- 

Salaries 14500 --- 

Directors fee 5725 --- 

Bad debts 2110 --- 

Debentures interest 18000 --- 
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paid 

Bills payable -- 37000 

Creditors --- 40000 

General Reserve --- 25000 

Provision for Bad debts --- 35000 

 1246750 1246750 

   

Prepare statement of Profit & Loss a/c and Balance sheet in proper form after 

making following adjustments. 

 Depreciate Plant by 15% 

 Write off preliminary expenses 

 Provide for 6 months interest on debentures 

 Leave bad debts provision at 5% on debtors 

 Provide for income tax at 50% 

 Stock on 30.03.2008 was Rs.95000 

 Provide for co-operative dividend tax at 17% 

X Ltd  mq;fPfhpf;fg;gl;l %yjdj;Jld; &.600000 gq;Ffspy; &.jyh 10.  
gpd;tUtJ mjd; Nrhjid ,Ug;G 31.03.2008. 

Nrhjid ,Ug;G 

    

     

Debit Balance Credit Balance 

 
ey;nyz;zk; 25000 --- 
gzk; 750 --- 
tq;fp 39900 --- 
nfhs;Kjy; 185000 ---- 
G+h;thq;f nryTfs; 5000 --- 
gq;F %yjdk; --- 400000 

12% fld; gj;jpuq;fs; --- 300000 
,yhgk; (k) el;lk; 
fzf;F(Cr) 

--- 26250 

epYit miog;gpjo; 7500 --- 
tshfq;fs; 300000 --- 
nghwp 330000 --- 
,ilf;fhy <Tj;njhif 39850 --- 
tpw;gid --- 415000 
gq;F (1.4.2007) 75000 --- 
jsthlq;fs; 7200 --- 
fldhspfs; 87000 --- 
$yp 84865 --- 
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nghJ nryTfs; 6835 --- 
ruf;F kw;Wk; tz;b 
fl;lzk; 

13115 --- 

rk;gsk; 14500 --- 
,af;Fdh;fspd; fl;lzk; 5725 --- 
tuhf; fld;fs; 2110 --- 
fldpw;F tl;b nrYj;jgl;lJ 18000 --- 
nrYj;j Ntz;ba 
khw;Wr;rPl;L 

-- 37000 

fld; toq;Fdh;hfs; --- 40000 
nghJ ,Ug;G --- 25000 
tuhf; fldfSf;fhd xJf;F --- 35000 
 1246750 1246750 

rhpnra;jy; nra;jgpd; yhgk; kw;Wk; ,og;G kw;Wk; ,Ug;Gepiyf; Fwpg;ig rhpahd 
tbtj;jpy; jahhpf;fTk;.  gpd;tUk; khw;wq;fis nra;tJ. 

 nghwp kPjhd Nja;khdk; 15% Fiwj;j;y; 

 G+h;thq;f nryTfis Nghf;F vOJq;fs; 

 fld; gj;jpuq;fs; kPjhd  6 khj tl;b toq;F. 

 tuh kw;Wk; re;Njfj;jpw;fplkhd fld;fis 5% fldspg;gth;fs; kPJ xJf;Ff. 

 50% tUkhd thpf;F toq;fTk; 

 31.03.2008 md;W ruf;F &.95000 

 epWk gq;fhjha thpia toq;fTk; @ 17% 

9.  Explain in detail the proforma of statement of affairs. 

 epiyawpf;ifapd; tptuj;ij tphpthf tpsf;Fq;fs; 
 

10.  X Ltd having a capital of  Rs.1000000 divided into 10000 shares of Rs.100 

each (Rs.75 paid up) and a reserve fund of Rs.250000 was absorbed by Y Ltd having 

a capital of Rs.4000000 divided into 40000 shares of Rs.100 each (Rs.60 paid up) 

and a reserve fund of Rs.1600000 on the terms that for every four shares in X Ltd,  

Y Ltd was to give five shares partly paid as its original ones. 

 Prepare ledger accounts to close the books of X Ltd. 

 10000 gq;Ffs; jyh &.100 (&. 75 nrYj;jg;gl;lJ) Kjy; &1000000 kw;Wk; fhg;G 

epjp &. 250000 nfhz;l X Ltd Y epWtdj;ij <w;Wf;nfhz;lJ. Y epWtdj;jpd; Kjy; 
&.4000000.  40000 gq;Ffs; jyh &. 100 (&.60 nrYj;jg;gl;lJ) kw;Wk; fhg;G epjp 

&.1600000.  X epWtdk; xt;nthU ehd;G gq;fpw;Fk; Y epWtdk; gFjpahf nrYj;jg;l;l 
Ie;J gq;Ffis Kjypy; ,Ue;jthW nrYj;j Ntz;Lk;. 

 X epWtdk; VLfspy; NtNul;Lf; fzf;Ffisj; jahhpf;fTk; 

11.   Describe in detail the methods of ascertaining profit prior to incorporation 
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gjptpw;F $l;LWthf;fj;jpw;FKd; kw;Wk; gpd; ,yhgj;ij fzf;fpLk; Kiwfis 
tphpthf tpsf;Ff. 

12.   Lal Company had 1000 redeemable preference shares of Rs.100 each fully 

paid up.  When the shares became due for redemption, the company had Rs.60000 

in its reserve fund.  The company made minimum new issue of equity shares of 

Rs.25 each necessary for the purpose of redemption and received cash in full.  Pass 

necessary journal entries. 

 yhy; epWtdj;jpy;  &.100 Kfkjpg;G KOtJk; nrYj;jg;gl;l 1000 kPl;G 
Kd;Dhpik gq;Fs; cs;sJ.  kPl;gpd; NghJ epWtdj;jpy; fhg;G epjp &.60000 cs;sJ.  
kPl;gpw;F Njitg;gLk; nghOJ epWtdk; Fiwe;jgl;rk; gq;Ffis jyh &.25 f;F 
ntspapl;L KO njhifiaAk; ngw;wJ.  Fwpg;NgL gjpTfis jUf. 

 

 

 

 

 

 

 

 

 

 



  

 

 

U.G. DEGREE EXAMINATION - JUNE 2021 

CORPORATE SECRETARYSHIP 

SECOND YEAR 

COMMERCIAL LAW & INDUSTRIAL LAW 

Time : 3 Hours             Maximum  Marks : 75 

PART - A                                      (3  5 = 15 Marks) 

Answer any THREE questions. 

1. Define a contract. What are its essentials? 

 

2. Distinguish sale from agreement to sell. 

 

3. Write a note on Quasi contracts. 

 gw;wp Fwpg;G vOJf.
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4. Define Factory — Worker. 

 

5. What are the objects of ESI ACT? 

 

PART - B                                      (4  15 = 60 Marks) 

Answer any FOUR questions. 

6. Past consideration is no consideration — discuss. 

 chpa

7. Caveat Emptor — explain. Are there exceptions? 

 

8. What are the rights of unpaid seller? 

 tpiyngwh

9. Explain the provisions of the Factories Act 1948 regarding health and safety. 

 

10. Explain the important provisions of Workmen’s Compensation Act. 
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11. Explain the objectives of Minimum Wages Act, 1948. 

 

12. Explain the provisions dealing with the distribution of compensation under Workmen’s 

Compensation Act. 

 

——————— 
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U.G. DEGREE EXAMINATION – JUNE 2021 

CORPORATE SECRETARY SHIP 

SECOND YEAR 

BUSINESS STATISTICS 

 

Time: 3 Hours                Maximum Marks: 75 

    PART - A                                (3 × 5 = 15 Marks) 

 

Answer any THREE questions. 

 

1.  Define Statistics. 

Gs;spapay; ,yf;fzk; jUf. 

2.  What is Tabulation? 

ml;ltiz gLj;jy; vd;why; vd;d? 

3.  State the Characteristics of Index numbers. 

FwpaPl;L vz;fspd; jd;ikfs; Fwpg;gpLf. 

4.  Calculate Arithmetic mean from the following: 

House No 1 2 3 4 5 

Income ₹ 10,000 500 2,000 3,500 5,000 

 

$l;L ruhrhpia fzf;fPLf  

tPl;L vz; 1 2 3 4 5 

tUkhdk; ₹ 10,000 500 2,000 3,500 5,000 

 

5.  Calculate median from the following data. 

 500,300,1000,50,1150,600,700 

 

fPo;fz;ltw;wpw;F ,ilepiy fzf;fPLf  

 500,300,1000,50,1150,600,700 
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PART - B           (4 × 15 = 60 Marks) 

 

Answer any FOUR questions. 

6.  Explain the types of Correlation. 

cld; njhlh;Gfspd; tiffs; tpthp.   

7.  Describe Time series. 

fhyj;njhlh; Fwpj;J tpsf;Ff. 

8.  Calculate mean from the following data: 

Marks 0-9 10-19 20-29 30-39 40-49 50-59 60-69 70-79 80-89 90-99 

Frequency 2 4 7 8 25 30 12 6 5 1 

 

fPo;fz;ltw;wpw;F $l;L ruhrhpia fzf;fPLf  

kjpg;ngz;; 0-9 10-19 20-29 30-39 40-49 50-59 60-69 70-79 80-89 90-99 

miyntz; 2 4 7 8 25 30 12 6 5 1 

 

9.  Calculating Quartile deviation and its co-efficient from the following data 

Marks 10 20 30 40 50 60 70 80 

No.of 

Students 
6 8 10 20 12 9 7 5 

 

fPo;fz;ltw;wpw;F fhy;khd tpyf;fk; kw;Wk; nfO fz;lwpf  

kjpg;ngz;; 10 20 30 40 50 60 70 80 

khzth; 
vz;zpf;if 6 8 10 20 12 9 7 5 

 

10.  The Rankings of 10 students are as follows (in two subjects) 

Sub A 3 5 8 4 7 10 2 1 6 9 

Sub B 6 4 9 8 1 2 3 10 5 7 

  

,U ghlq;fspy;; 10 khzth;fspd; juthpir gpd;tUkhW  

ghlk;  A 3 5 8 4 7 10 2 1 6 9 

ghlk;  B 6 4 9 8 1 2 3 10 5 7 
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11.  Construct the Fisher’s Ideal Index for the following data 

Commodity 
Base Year Current Year 

Price Quantity Price Quantity 

A 6 50 10 56 

B 2 100 2 120 

C 4 60 6 60 

D 10 30 12 24 

E 8 40 12 36 
 

fPo;fz;ltw;wpw;F gp\h; FwpaPl;L vz; fzf;fPLf  

nghUs; 
mbg;gil Mz;L elg;G Mz;L 

tpiy msT tpiy msT 
A 6 50 10 56 

B 2 100 2 120 

C 4 60 6 60 

D 10 30 12 24 

E 8 40 12 36 

 

12.  Assuming that trend is absent, determine if there is any seasonality in the data 

given below; what are the seasonal indices for various quarters? 

Year Ist Quarter II Quarter III Quarter IV Quarter 

1994 3.8 4.1 3.3 3.6 

1995 3.6 3.9 3.6 3.6 

1996 4.0 4.0 3.0 3.0 

1997 3.3 4.5 4.3 4.0 
 

fhyg;Nghf;F ,y;yhjjhf vz;zg;gl;Ls;sjd; fhuzpahf gUt fhy 

khWjy;fis fz;lwpf xt;nthU fhyhz;bw;Fk; cs;s gUt fhy 

khWjy;fs; ahit  

 
 

Mz;L Kjy; fhyhz;L ,uz;lhk; 
fhyhz;L 

%d;whk; 
fhyhz;L 

ehd;fhk; 
fhyhz;L 

1994 3.8 4.1 3.3 3.6 

1995 3.6 3.9 3.6 3.6 

1996 4.0 4.0 3.0 3.0 

1997 3.3 4.5 4.3 4.0 
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U.G. DEGREE EXAMINATION — JUNE 2021 
                                                     

CORPORATE SECRETARYSHIP 

SECOND YEAR 
 

BUSINESS CORRESPONDENCE AND SECRETARIAL PRACTICE 

 

Time: 3 Hours                                         Maximum Marks: 75 

 

PART - A       (3 x 5 = 15 Marks) 

 

Answer any THREE questions.  

1.     State the essentials of effective oral communication. 

 tha;nkhopj; jfty;njhlh;gpd; mtrpaj;ijf Fwpg;gpLf. 

2.     What are various forms of business letter? 

tzpff;fbjj;jpd; gy;NtW giffs; ahit? 

 3.    What are the barriers to communication? 

 jfty; njhlh;gpd; jilfs; ahit? 

4.     What are the different types of business report? 

 tzpf mwpf;ifapd; gy;NtW tiffs; ahit? 

5      State the important characteristics of company correspondence. 

 epWtd jfty; njhlh;gpd; Kf;fpa Fzhjpraq;fs; gw;wp vOJf. 

                                              PART -B              (4 x 15 = 60 Marks)   

Answer any FOUR questions. 

 

6.    Explain briefly the structure of a business letter. 

 tzpf fbjj;jpd; fl;likg;gpid tpthp. 
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7.    Discuss about any five modern forms of communication. 

 VNjDk; Ie;J etPd jfty; njhlh;G Kiwfs; gw;wp tpthjp. 

8.   What are the guidelines to be observed while writing a report?    

 tzpf mwpf;if vOJk;NghJ ftdpf;fg;gl Ntz;ba newpfs; ahit?   

Draft a circular letter as you are shifting your business premises. 

 cdJ epWtdj;ij ,lk; khw;Wjy; Fwpj;J Rw;wwpf;iff; fbjk; xd;iw vOJ. 

.  Draft an application for the post of financial manager of a public limited  

      company. 

 xU nghJj;Jiw epWtdj;jpw;F epjp Nkyhsh; gzp Ntz;b tpz;zg;gk; xd;iw 
tiuf. 

11. State the merits and demerits of written communication. 

 vOj;Jj; jfty; njhlh;gpd; epiw Fiwfs; gw;wp vOJ.  

12.   What is website?  State its importance for business? 

 tiyjsk; vd;why; vd;d?  th;j;jfj;jpy; mjd; Kf;fpaj;Jtj;ij tpthp. 

         

.  
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U.G. DEGREE EXAMINATION — JUNE 2021 

CORPORATE SECRETARYSHIP 

SECOND YEAR 

BANKING THEORY, LAW AND PRACTICE 

 

Time : 3 Hours                                         Maximum Marks : 75 

 

PART - A           (3 x 5 = 15 Marks) 

 

Answer any THREE questions.  

1.     What are the features of E-banking? 

kpd;dZ tq;fpapay; vd;why; vd;d? 

2.     What are the difference types of bank accounts? 

 tq;fpf; fzf;Ffspd; gy;NtW tiffis $Wf. 

 3.    Outline about the mechanism of credit creation. 

 fld; ngUf;f Kiwia tpsf;Ff. 

4. State the subsidiary functions of Commercial Banks. 

 tzpftq;fpfspd; Mw;Wk; gjpyPl;Lg; gzpfis Fwpg;gpLf. 

5      Write the main provisions of Banking Regulation Act. 

   tq;fp xOq;fhw;Wr;rl;lj;jpd; Kf;fpa tiuTfis gw;wp vOJ. 

 

                                               PART -B              (4 x 15 = 60 Marks)   

Answer any FOUR questions. 

 

6.    Explain the various functions of Central Bank. 

 ika tq;fpapd; gzpfis gw;wp tpthp. 
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7.    Explain the role of commercial banks in the economic development of a Nation. 

ehl;bd; nghUshjhu tsh;r;rpf;F tzpftq;fpfspd; gq;fspg;gpid gw;wp tpsf;Ff.  

8.  What is meant by dishonor of cheque?  What are the circumstances in which it is 

solved?    

 mtkjpg;G fhNrhiy vd;why; vd;d?  ve;nje;j jUzq;fspy; fhNrhiy 
Vw;Wf;nfhs;shky; kWf;fg;gLfpwJ?  mjw;fhd jPh;Tfs; vd;d?   

What are the rights and duties of a colllecting bankers? 

   t#ypf;Fk; tq;fpahpd; chpikfs; kw;Wk; flikfs; gw;wp tpthp. 

.   Describe the recent developments in Indian Money Market. 

  ,e;jpa gzr;re;ijapd; jw;Nghija Nkk;ghl;bid gw;wp tpthp. 

11.   Explain the methods of credit control by RBI. 

  ,e;jpa hprh;t; tq;fpapd; fld; fl;Lg;ghl;L Kiwfs; gw;wp vOJf. 

12.   Describe the precautions which a banker should take before lending against  

        goods. 
   ruf;Ffs; kPJ fld; toq;Fk; Kd; tq;fpah; Nkw;nfhs;s Ntz;ba Kd;ndr;rhpf;if   
    eltbf;iffs; ahit?  tpthp. 

         

.  
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U.G. DEGREE EXAMINATION — JUNE 2021  

CORPORATE SECRETARYSHIP 

THIRD YEAR 

BUSINESS FINANCE 

 

Time : 3 Hours                                             Maximum Marks : 75 

 

PART- A           (3 x 5 = 15 Marks) 

Answer any THREE questions. 

1.     State the functions of a Finance Manager. 

epjp Nkyhshpd; gzpfis Fwpg;gpLf. 

2.     Short notes on the financing of long term working capital. 

ePz;l eilKiw Kjypd; cs;s epjp mk;rq;fis gw;wp rpW Fwpg;G tiuf. 

 3.    Explain the kinds of working capital. 

 nray;ghl;L %yjd tiffis tpsf;Ff. 

4.     A ltd issues Rs. 100000, 8% debentures at a premium of 10%. The cost of  

        floating is 2%. The tax rate is 50%. Find out the cost of dept capital before and  

        after tax. 

 “A”ypkpnll; &.100000> 8%f;fhd fld;gj;jpuj;ij mjd; 10% kPs; Kfkjpg;gpy; 

ntspapl;lJ. tpiy khwpyp 2% MfTk;> thp tpfpjk; 50% MfTk; ,Uf;fpwJ.  fld; 
%yjdr; nryit thpf;F Kd; kw;Wk; gpd; cs;sij fzf;fpL. 

5    EBIT =Rs. 300000; WACC=15% Interest=Rs.90000; Cost of debt=10%. Calculate  

      the cost of equity Capital(Ke). 

 EBIT = Rs..30>00>000> WACC=15%, tl;b=&.90>000> fld; nryT=10%. Neh;ir gq;F 

%yjd nryit fzf;fpLf. 
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                                              PART - B                         (4 x 15 = 60 Marks)   

Answer any FOUR questions. 

 

6.     Explain Walter model of dividend. 

 thy;lh; Kiw gq;fhjhaj;ij tpthp. 

7.     A company issues one crore equity shares of Rs.100 each at a premium of 

10%.   The company has been consistently paying a dividend of 185 for the 

past 5years.  It is expected to maintain the dividend in future also. (a) 

compute the cost of equity capital. 

 xU epWtdk; xU Nfhb Neh;ik gq;Ffis xd;W &.100f;F 10% kPs;Kfkjpg;gpy; 
ntspapLfpwJ.  me;j epWtdk; njhlh;e;J &.185 I fle;j 5 tUlq;fshf 
gq;fhjhakhf nrYj;jp tUfpwJ.  tUk; fhyj;jpy; ,ij vt;thW guhkhpg;gJ.  
Neh;ik gq;F tpiyia fzf;fpL. 

8.  A company wishes to determine the optimal capital structure.  From the 

following selected information supplied to you, determine the optimal capital 

structure of  the company. 

     Situation   Debt(Rs.)   Equity(Rs.)   After tax cost of debt(%)   Ke(%) 

            1         4,00,000     1,00,000                        9                            10 

            2         2,50,000      2,50,000                       6                            11 

            3         1,00,000      4,00,000                       5                            14 

 xU epWtdj;jpd; cj;jk gq;F mikg;ig nfhz;bUf;f tpUg;gk; ,Uf;fpwJ.  
fPo;fz;l jftypd; gb eP %yjd> cj;jk $yjd mikg;ig Njh;e;njLg;ghahf. 

 epiy   fld; Neh;ikgq;F  thpf;F gpe;ija fld;(%) Ke(%) 

            1         4,00,000       1,00,000                       9                            10 

            2         2,50,000       2,50,000                       6                            11 

            3         1,00,000       4,00,000                        5                            14 
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A firm issues debetures of Rs. 100000 and realises Rs.98000 after allowing 2%  

     commission to brokers. Debetures carry interest rate of 10%. The debetures and  

     due foe maturing at the end of 10th year at par.  Tax rate is 55%. Calculate cost  

     of debt before tax and after tax. 

 xU epWtdk; &.1>00>000 kjpg;Gs;s fld;gj;jpuj;ij ntspapLfpwJ.  mjid tpw;W 

kjpg;G &.98>000 vd;gJ 2% mDkjpj;j Kfth; fopT me;j fld;gj;jpuk; 10% tl;b 
tpfpjj;ij ngw;W cs;sJ.  10 tUl Kbtpy; me;j fld; gj;jpuk; kw;Wk; Kjph;thdJ 
Kfkj;jpy; cs;sJ.  thpf;F Kd; kw;Wk; gpd; gld; nryTfis fzf;fpLf. 

.   What are the components of Working Capital? 

  eilKiw Kjypd; cs;slf;fq;fs; ahit? 

11.   Explain the forms of Dividend Payment. 

  gq;fhjha toq;fspd; tiffis tptup. 

12.   A company issued 15% redeemable preference shares of Rs.100 each of an  

        amount aggregating Rs. 100000 at 10% premium, redeemable at par after 5    

        years. Determine cost of preference shares. 

 xU epWtdk; 15% kPs; jF Kd;Dhpik gq;Ffis jyh 100 nkhj;jkhf &.1>00>000 

10% kPs; Kfkj;jpy; ntspapLfpwJ.  ,ij mLj;j 5 Mz;by; Kfkj;jpy; kPl;fg;gLk;.  
MfNt> Kd;Dhpik gq;F tpiyia fzf;fpLf. 

         

.  
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U.G. DEGREE EXAMINATION — JUNE 2021 

CORPORATE SECRETARYSHIP 

THIRD YEAR 

INCOME TAX 

 

Time : 3 Hours                                             Maximum Marks : 75 

      

PART - A              (3 x 5 = 15 Marks) 

Answer any THREE questions. 

1. State the various receipts to be included under the head salaries. 

 rk;gs jiyg;gpy; cs;slf;fpa gy;NtW ngWjy; njhif gw;wp Fwpg;gpLf. 

2. Write down the procedure to be followed in computing the Total Income of an 

assessee. 

 xU thp tpjpg;Gf;Fwpthpd; nkhj;j tUkhdk; fzf;fpLk; Kiwia vOJf. 

3. Mr.Ganesh an Indian citizen leaves India for the first time in the last 20 years on 

25.11.2016.  During the calendar year 2017, he comes to India on September 1 and 

stays for a period of 20 days.  During the calendar year 2018, he does not visit 

India at all but comes to India on January 15, 2019 and stays on.  

 Determine his residential status for the assessment year 2019-20. 

 jpU. fNz\; vd;w ,e;jpa Fbkfd; 20 Mz;LfSf;F gpwF Kjd;Kjyhf 25.11.2016 
md;W ,e;jpahtpypUe;J ntsp ehL nrd;whh;.  2017 ehl;fhl;b tUlj;jpy; nrg;nlk;gh; 1k; 
Njjp ,e;jpahtpw;F tUif je;J 20 ehl;fs; jq;fp ,Ue;jhh;.  2018 Mk; Mz;by; mth; 
,e;jpahtpw;F tutpy;iy vd;whYk; 2019 [dthp 15 md;W ,e;jpahtpw;F tUif Ghpe;J 
njhlh;e;J trpj;J tUfpwhh;. 

 2019-20 thptpjpg;G Mz;by; mthpd; FbapUg;G epiyia jPh;khdpf;f. 
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4. Dr.Sharma is a Medical practitioner.  He gives you the following summary of Cash 

book for the previous year. 

Receipts ₹ Payments ₹ 

To Balance b/d 7,000 By Rent of Clinic 30,000 

To Consultation fee 80,000 By Purchase of             Medicines 35,000 

To Visiting fee 50,000 By Staff Salaries 24,000 

To Gifts from patients 10,000 By Medical equipment purchased 90,000 

To Sales of Medicines 45,000 House Expenses 7,000 

By  Balance c/d 6,000 

1,92,000 1,92,000 

  Depreciate Medical Equipmentsd @ 10%.  Compute the Income from Profession. 

lhf;lh; rh;kh vd;gth; xU gjpT ngw;w kUj;Jth;.  gpd;tUk; mthpd; Ke;ija Mz;L 

nuhf;f Gj;jfk; gpd;tUkhW. 

Receipts ₹ Payments ₹ 

,Ug;G fP/nfhb 7,000 M];gj;jphp thlif 30,000 
MNyhrid fl;lzk; 80,000 kUe;Jfs; thq;fpaJ 35,000 
ghh;it fl;lzk; 50,000 Copah;hfs; rk;gsk; 24,000 
Nehahspaplk; ngw;w ghpR 10,000 kUj;Jt fUtpfs; thq;fpaJ 90,000 
kUe;Jfs; tpw;gid 45,000 tPl;L nryTfs; 7,000 

,Ug;G fP/, 6,000 

1,92,000 1,92,000 

kUj;Jt fUtpfs; kPJ 10% Nja;khdk; cUthf;Ff.  njhopy; tUkhdj;ij 
fzf;fpfLf. 

5.  Mr. Anand has the following investments for the previous year ended 31.3.2019. 

 (i) 7% ₹ 20,000 Govt. securities. 

 (ii) 8% ₹10,000 Agra Municipal Bonds 

 (iii) 10% ₹ 30,150 Tax free debentures of a company. 

 (iv)  9% ₹ 80,000 Debentures (listed) of a tea company 

 (v) Received ₹.5,400 as interest on Maharashra Govt. Tax free securities. 

He paid expenses ₹.500 for collecting the above amounts. 

 Find out Income from other sources. 
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jpU. Mde;j; vd;gthpd; 31.03.2019 Mk; Mz;L Kbtpy; gpd;tUk; KjyPLfis 
nra;jpUe;jhh;. 

(i) 7%  muR KjyPLfs; &.20>000 

(ii) 8% Mf;uh efuhl;rp gj;jpuq;fs; &.10>000 

(iii) 10%  xU thpapy;yh epWk fld; gj;jpuq;fs; &.30>150 

(iv) 9% gl;bayplg;gl;l Njapiy epWk fld; gj;jpuq;fs; &.80>000 

(v) kfhuh\;buh muR thpapy;yh gj;jpuq;fs; kPJ ngwg;gl;l tl;b U.5>400 

 Nkw;fz;l tl;b njhifia ngWtjw;F *.200 nrythf nrYj;jpdhh;. 

,ju top tUkhdj;jij fzf;fpLf. 

PART - B               (4 x 15 = 60 Marks) 

Answer any FOUR questions. 

 

6. Mr.X owns a house, the construction was completed in May 2000.  50% floor area 

is let out on the monthly rent of Rs.3,200.  However this portion remains vacant 

for one month during 2018-19, 25% of the floor area is used for own profession.  

The remaining 25% of the floor area is used for his residence.  Other particulars of 

the house are given below: 

 ₹ 

Municipal rent Valuation 75,000 

Standard Rent 90,000 

Municipa Taxes Paid 12,000 

Repairs 3,000 

Interest on capital borrowed for repairs ₹ 28,000. 

Compute his income from house property for the Ay 2019-20. 

jpU. X vd;gth; 2000 Mk; Mz;L Nk khjk; fl;b Kbf;fg;gl;l tPL nrhe;jkhf 

itj;jpUe;jhh;.  tPl;bd; 50 % gFjpia khj thlif &.3>200 tPjk; ntsp thliff;F 
tpl;bUe;jhh;.  ,e;j gFjp tPL 2018-19 Mk; Mz;by; xU khjk; fhypahf ,Ue;jJ.  

25% gFjpia jd;Dila njhopYf;fhf gad;gLj;jpdhh;.  kPjKs;s 25% tPl;bd; 
gFjpia nrhe;j FbapUg;Gf;fhf gad;gLj;jpdhh;. 

 

 



4   UG-A-344 
 

tPl;bd; kw;w tptuq;fs; fPo; tUkhW: 

 ₹ 
efuhl;rp thlif kjpg;G 75,000 
juepiy thlif 90,000 
efuhl;rp thp nrYj;jpaJ 12,000 
gOJghh;j;jy; 3,000 

gOJ ghh;j;jYf;fhf thq;fpa fld; kPjhd tl;b &.28>000 

2019-20 Mk; Mz;bw;fhd mthpd; tPl;L nrhj;jpd tUkhdj;ij fzf;fpLf. 

 7.  Following is the Profit & Loss account of Mr.Hari Compute Business Income. 

Particulars ₹ Particulars ₹ 

To General expenses 9,000 By Gross profit 1,47,000 

To Bad debts 1,000 By Bad debts Recovered 

  (disallowed earlier) 

4,000 

To Salaries 65,000 By interest from Govt. 

securities 

4,000 

To Advertisement (cash) 22,250 By Interest from debtors 

for delayed payment 

6,000 

To proprietor’s salary 12,500   

To interest on capital 2,000   

To Income tax 1,000   

To Depreciation 2,000   

To Advance income tax 

paid 

1,000   

To Donation 5,500   

To Motor car Expenses 750   

To Net profit 39,000   

 1,61,000  1,61,000 

 General expenses include ₹ 2,200 to help poor students.  Depreciation calculated according to IT 

rules is ₹ 2,900.  50% of Motor car expenses are for proprietor’s personal use. 

gpd;tUk; jpU. mhp vd;gthpd; ,yhg kw;Wk; el;l fzf;fpypUe;J> tzpf tUkhdj;ij 
fzf;fpLf. 

Particulars ₹ Particulars ₹ 
nghJ nryTfs; 9,000 nkhj;j ,yhgk; 1,47,000 
tuhf; fld; 1,000 tuhf; fld; t#ypj;jJ 

(Vw;fdNt 
mDkjpf;fglhjJ) 

4,000 

rk;gsk; 65,000 muR gj;jpuq;fspypUe;J 
tl;b  

4,000 

tpsk;guk; (nuhf;fk;) 22,250 jhkjkhf nrYj;jpa 
fldhspaplkpUe;J tl;b 

6,000 

chpikahsh; rk;gsk; 12,500   
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tUkhd thp 1,000   
Nja;khdk; 2,000   
Kd;$l;bNa nrYj;jpa 
tUkhd thp 

1,000   

Kjy; kPjhd tl;b 1,000   
ed;nfhil 5,500   
Nkhl;lhh; fhh; nryTfs; 750   
epfu yhgk; 39,000   
 1,61,000  1,61,000 

nghJ nryTfspy; &.2>200 Vio khzth;fSf;F nra;j cjT mlq;fpAs;sJ.  

tUkhd thp tpjpapd; gb fzf;fpLk; Nja;khdk; &.2>900 chpikahsh;.  50% fhh; 
nrhe;j cgNahfj;jpw;F gad;gLj;jg;gl;lJ. 

8. Mr. Ganesh sells a residential house property in Chennai for ₹ 22,00,000 on 

August 20, 2018.  He was acquired this house on Septermber 15, 1988 for ₹ 

3,00,000.  The Fair Market value of the property as on 1
st
 April, 2001 was ₹ 5,00,000.  During 

the year 2004-05 he incurred ₹ 80,000 towards cost of improvement of the property.  He paid ₹ 

10,000 as expenses on transfer of the property.  In December 2018, he purchased a house in 

Madurai for ₹.5,00,000. 

 Compute the capital gain chargeable to tax for Assessment Year 2019-20.  CII for 2001-2002 

is 100; 2004-05 is 113; and for 2019-19 is 280. 

 jpU. fNz\; vd;gth; FbapUg;Gf;fhd tPl;L nrhj;ij 2018 Mk; Mz;L Mf];l; khjk; 
20k; Njjp &. 22>00>000 f;F tpw;gid nra;jhh;.  mth; ,e;j tPl;il 1988k; Mz;L nrg;lk;gh; 
khjk; 15e; Njjp &.3>00>000f;F thq;fpdhh;.  ,e;j nrhj;jpd; epaha kjpg;G Vg;uy; 1>2001 md;W 
&.5>00>000Mf ,Ue;jJ.  2004-05k; elg;ghz;by; &.80>000 nrhj;jpd; $Ljy; fl;ll nrythf 
nra;jhh;.  tPL tpw;gidf;fhd nrythf &.10>000 nra;jhh;.  2018 brk;gh; khjj;jpy; kJiuapy; 
&.5>00>000 kjpg;Gs;s tPL thq;fpdhh;. 

2019-20 thp tpjpg;G Mz;bw;fhd thptpjpg;gpw;Fl;gl;l %yjd ,yhgj;ij fzf;fpLf. 

tpiythrp FwpaPl;L vz;.2001-02 =100> 2004-05 = 113> kw;Wk; 2019-20 =280. 

 9.  Mr. Anbu provides the following details of his income for previous year: 

Basic Salary 1,80,000 

Dearness allowance 50,000 

Special allowance 30,000 

Conveyance allowance 15,000 

Long term Capital Gain 20,000 

Interest on Govt. securities 45,000 

Dividends from a co-operative society 30,000 

Income from House property(computed) 2,30,000 

Deposited in PPF 40,000 

Life Insurance premium paid 10,000 



6   UG-A-344 
 

Determine his Total Income for the Assessment Year 2019-20 

 jpU. md;G vd;gth; Ke;ija Mz;Lf;fhd gpd;tUk; tUkhd tptuq;fis 

nfhLf;fpwhh;. 

mbg;gil rk;gsk; 1,80,000 
mftpiyg;gb 50,000 
rpwg;Gg;gb  30,000 
Nghf;Ftuj;J gb 15,000 
ePz;lfhy %yjd ,yhgk; 20,000 
murhq;f KjyPLfs; kPjhd tl;b 45,000 
$l;LwT rq;f gq;fhjak; 30,000 
tPl;L nrhj;jpd; tUkhdk; (fzf;fplg;gl;lJ) 2,30,000 
nghJ Nrkpg;G ey epjpapy; itg;G nra;jJ 40,000 
MAs; fhg;gPL Kidkk; nrYj;jpaJ 10,000 

 

          2019 - 2020 thptpjpg;G Mz;bw;fhd nkhj;j tUkhdj;ij fzf;fpLf. 

10.  The following income are received by Mr.Raj during the previous year  

2018-19: 

  ₹ 

1. Director’s fee 6,000 

2. Income from agricultural land in Pakistan 40,000 

3. Interest on post office savings bank A/c 1,500 

4. Interest on fixed deposit 6,000 

5. Winning from Lottery(Net) 52,500 

6. Royalty on Books (Expenses on writing Books 

₹.4,000) 

20,000 

7. Income from subletting (Rent paid ₹. 15,000) 30,000 

8. Dividend from co-operative societies 25,000 

9. Interest received on Tax free securities of listed 

company 

6,300 

10. Interest received on Karnataka Government 

securities 

7,200 

 Bank charges ₹ 100 incurred for collection of interest on securities compute the 

income from other sources. 
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jpU. uh[; vd;gth; fPo;fz;l tUkhdq;fis Ke;ija Mz;lhd 2018-19 y; 

ngw;wpUe;jhh;. 

  ₹ 

1. ,af;Feh; fl;lzk; 6,000 

2. ghfp];jhdpYs;s Ntshz;ik epyj;jpypUe;J tUkhdk; 40,000 

3. mQ;ryf Nrkpg;G tq;fp fzf;fpypUe;J tl;b 1,500 

4. epiy itg;gpd; kPjhd tl;b 6,000 

5. ghpR rPl;by; ntw;wp (epfu) 52,500 

6. Gj;jf chpik (Gj;jf vOJk; nryTfs; ₹.4000) 20,000 

7. Jiz thlif tUkhdk; (thlif nrYj;jpaJ ₹.15000) 30,000 

8. $l;LwT rq;fj;jpypUe;J gq;fhjhak; 25,000 

9. xU gl;bayplg;gl;l epWk thpapy;yh KjyPLfs; kPJ 
ngw;w tl;b 

6,300 

10. fh;ehlf muR KjyPLfspypUe;J ngw;w tl;b 7,200 
KjyPLfs; kPjhd tl;b t#Yf;fhf ₹ 100 nryT nra;ag;gl;lJ.  ,ju top 
tUkhdj;jij fzf;fpLf. 

11.  Write notes on: 

 a) Income 

 b) Person under IT Act. 

 c) Assessment 

 Fwpg;G tiuf. 

 m) tUkhdk; 

 M) tUkhd thp rl;lj;jpd; fPo; egh; 

 ,) kjpg;gPL 

12.   Explain the various amount of savings can be claimed as deduction U/s 80 C. 

 80 rp gphptpd; gb fopT nra;af;$ba gy;NtW Nrkpg;G njhiffis tpthp. 
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U. G.  DEGREE EXAMINATION — JUNE 2021  

CORPORATE SECRETARYSHIP 

THIRD YEAR 

COST ACCOUNTING 

 

Time: 3 Hours                                              Maximum Marks: 75 

 

PART - A                (3 x 5 = 15 Marks) 

 

Answer any THREE questions.  

1.     State the objectives of Cost Accounting. 

 mlf;f tpiyf; fzf;fpaypd; Nehf;fq;fisf; Fwpg;gpLf.. 

2.     List the advantages of cost accounting to the management. 

 mlf;ftpiyf; fzf;fpay; Nkyhz;ikf;Fj; je;jpLk; gad;fis gl;bapLf.  

 3.    What are the main features of process costing? 

 nray;Kiw mlf;f fzf;fpaypd; Kf;fpa ,ay;Gfs; ahit? 

4.     From the following figures, calculate EOQ. 

        Annual consumption of materials=4,000 units, Cost of buying per order=Rs. 5,  

       Cost per unit=Rs. 2 per unit, Storage and carrying cost=8% on average  

        inventory. 

  gpd;tUk; tptuq;fSf;F EOQ. fzf;fpL: 

 nghUl;fspd; Mz;L Efh;T: 4000 myFfs;. 

 Xh; myF thq;Fk; nryT: &.5 

 Xh; myF nryT: &.2 

 gz;lfk; kw;Wk; vLj;Jr; nry;Yk; nryT: 8% 
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5     Calculate wages under Hasley system from the following particulars. 

       Time allowed:  16 Hours 

       Time Taken:     10 Hours 

       Time rate: Rs. 2 per hour. 

 `h];yp jpl;lj;jpd; fPo; gpd;tUk; tptuq;fSf;Ff; $ypiaf; fzf;fpfLf. 

 Neuk; xUf;fPL: 16 kzpfs; 

 Neuk; vLj;Jf;nfhs;sg;gl;lJ: 10 kzpfs; 

 Neu tPjk; : &.2 (xU kzpf;F) 

                                              PART -B                          (4 x 15 = 60 Marks)   

Answer any FOUR questions. 

 

6.    Distinguish between Financial accounting and cost accounting. 

 epjpepiyf; fzf;fpay; kw;Wk; mlf;f tpiyf; fzf;fpay; ,tw;iw NtWgLj;Jf. 

7.    Explain the different methods of costing. 

 gy;NtW tifahd nryTf;fzf;fpliy tpthp. 

8.   The following data relate to the manufacturing of a standard product during the  

      month of March 2004. 

      Raw materials consumed     :     Rs. 20,000 

      Direct wages                         :     Rs. 12,000 

      Machine hour rate                :     Rs. 2 per hour  

      Machine hours worked         :     1,000 hours 

      Office overhead                     :     20% on works cost 

      selling overhead                    :     Rs. 0.40 per unit 

      Units produced                      :     20,000 units 
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      Units sold at Rs. 3 each        :     18,000 units 

      Prepare a cost sheet to show: 

      a.  Prime cost   b.  Works cost   c.  Cost of production    d.  cost of sales.     

 khh;r; 2004 d; xU jukhd nghUs; cw;gj;jpahdJ mspf;fg;gl;Ls;sJ.  gpd;tUk; 

tptuq;fSf;F mlf;ftpiyr; nryTf; fzf;fPl;Lj;jhspy; a) Kjd;ikr; nryT  

b) gzpr; nryT> c) cw;gj;jpr; nryT kw;Wk; d) tpw;gidr; nrytpidf; fz;lwpf. 

 fr;rhg; nghUl;fs; Efh;T     : &. 20>000 

 Neub $yp       : &. 12>000 

 ,ae;jpu Neu tPjk;     : &. 2 xU kzp Neuk; 

 ,ae;jpu gzp Neuk;     : 1000 kzp Neuk; 

 mYtyfr; nryTfs;     : 20% on works cost 

 tpw;gidr; nryTfs;     :  &. 0.40 Per Unit 

 cw;gj;jp myFfs;      : 20>000 Units  

 &. 3f;F tpw;fg;gl;l myFfs;    : 18>000 Units 

Write a short note on:  a. Fixed cost b.  Variable Cost c. Prime cost   

       d. Opportunity cost e.  Process cost. 

 Fwpg;G tiuf: m) epiyr;nryTfs; M) khWk; nryTfs;  ,) Kjd;ikr; nryTfs; 

 <) tha;g;Gr; nryT    c) eilKiwr; nryTfs;. 

.  The following information is extracted from the Job Ledger in respect of Hob  

       No.304: 

       Materials:  Rs. 34,000 

       Wages 80 hours at Rs. 25 per hour 

       Variable overhead incurred for all jobs Rs. 50,000 for 4,000 labor hours. 

       Find the profit if the job is billed for Rs.  42,000     

 gzp 304 gjpNtLfs; fPo; fhl;lg;gl;Ls;sJ.  &. 42>000f;F gzp fl;lzkplg;gLk;NghJ 
,yhgj;ijf; fzf;fpLf. 
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 nghUs;fs;  : &.34>000 

 $yp 80 kzpNeuk;    &.25 xU kzpNeuj;jpw;F  

 &. 50>000 khWk; nryTfs;  4>000 gzp Neuj;jpw;F. 

11.  Compute the economic batch quantity for a company using with the following  

       information. 

         Annual demand for the component 2,000 units 

         Setting up cost:  Rs. 100 

         Carrying cost per unit of production Rs. 10 per annum. 

 xU epWtdj;jpd; EBQ itf; fzf;fpLf.  

 Mz;Lj; Njit   :  2000 myFfs; 

 mikg;Gr; nryT   :   &.2 

 vLg;Gr; nryTfs; Mz;bw;F :  &.10 (Xh; myfpw;F) 

12.   List out the Labour Cost Control techniques. 

ciog;Gr; nryTf; fl;Lg;ghl;L Kiwfs; gw;wp tpthp. 
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U.G. DEGREE EXAMINATION - JUNE 2021 

CORPORATE SECRETARYSHIP 

THIRD YEAR 

ACCOUNTING FOR MANAGERIAL DECISIONS 

 

Time : 3 Hours                                            Maximum Marks : 75 

 

PART - A                    (3 x 5 = 15 Marks) 

Answer any THREE questions. 

1. Write a short note on trend analysis. 

 Nghf;F Ma;TKiw Fwpj;J Fwpg;G tiuf. 

2. List the managerial uses of management accounting. 

 Nkyhz;ikapy; Nkyhz;ikf; fzf;fpd; gad;fs; gl;bapLf. 

3. What is break even analysis?   

 rhprk KwpTg;Gs;sp vd;why; vd;d?   

4. Calculate gross profit ratio for the following data. 

Sales = 10,00,000; Sales returns - 1,00,000;  Opening stock = 2,00,000;  

Purchases = 6,00,000; Purchase returns = 1,50,000; Closing stock = 65,000 

gpd;tUk; tptuj;jpw;F nkhj;j ,yhgj;ijf; fhz;f. 

tpw;gid - 10>00>000;   tpw;gidj; jpUg;gk; - 1>00>000;   Muk;g Ruf;fpUg;G - 

2>00>000;  nfhs;Kjy; - 6>00>000;   nfhs;Kjy; jpUg;gk; - 1>50>000;   ,Wjp 
ruf;fpUg;G - 65>000 

5.  Ascertain the amount of Profit or Loss on sale of Machinery. 

Cost of Machinery sold = 1,00,000;  Accumulated depreciation on sold 

machinery = 30,000;  Sale value of machinery = 85,000 

 

 gpd;tUk; ,ae;jpu tpw;gidapd; ,yhg el;lj;ijf; fzf;fpLf. 
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,ae;jpuk; tpw;gidr; nryT : 1>00>000  Nja;khdk; : 30>000  ,ae;jpu tpw;gid 
kjpg;G : 85>000  

 

PART -  B        (4 x 15 = 60 Marks) 

Answer any FOUR questions. 

 

6. Explain the importance and uses of financial statements. 

epjpapay; gl;baypd; gad;fs; kw;Wk; Kf;fpaj;Jtj;ij tpthp. 

 7.  Describe the functions and scope of management account. 

 Nkyhz;ikf; fzf;fpaypd; gzpfs; kw;Wk; gug;ngy;iyia tpthp. 

8. Explain the uses and limitations of ratio analysis. 

 tpfpj Ma;T Kiwapd; gad;fs; kw;Wk; gutnyy;iyia tpthp. 

 9.  List out the Objectives and advantages of budgetary control. 

 tuT nryTf;fl;Lg;ghl;bd; Nehf;fq;fs; kw;Wk; gad;fis tpsf;Ff. 

10.  Calculate funds from operations from the following Profit and Loss Ac. 

 Particulars Rs. Particulars Rs. 

To expenses paid 3,00,000 By gross profit 4,50,000 

To depreciation 70,000 By gain on sale of land 60,000 

To Loss on sale of 

machine 

4,000   

To discount 2,00   

To goodwill 20,000   

To net profit 1,15,800   

 5,10,100  5,10,000 
 gpd;tUk; ,yhg el;l tptuj;jpypUe;J epjpnray; msitf; fz;f;fpLf. 

 Particulars Rs. Particulars Rs. 
nryT 3,00,000 nkhj;j ,yhgk; 4,50,000 
Nja;khdk; 70,000 epy tpw;gid ,yhgk; 60,000 
,ae;jpu tpw;gidapy; el;lk; 4,000   
js;Sgb 2,00   
ew;ngah; 20,000   
efu ,yhgk; 1,15,800   
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 5,10,100  5,10,000 
 

 

11.  ABC Ltd. presents the following results for one year.  Calculate the P/V ratio, 

BEP and Margin of Safety. 

Sales = 2,00,000   Variable Cost = 1,20,000   Fixed cost =50,000   Net profit 

=30,000 

ABC epWtdj;jpd; tptuk; fPNo nfhLf;fg;gl;Ls;sJ.  ,jw;F P/V tpfpjk;> rhprk 
KwpTg;Gs;sp kw;Wk; ghJfhg;G vy;iyg;gFjpiaf; fzf;fpfLf. 

tpw;gid: 2>00>000    khWk; nryTfs; : 1>20>000   epiyr; nryT : 50>000      

epfu ,yhgk;:30>000. 

12.   Calculate the current ratio, Liquidity ratio and Absolute liquidity ratio for 

the following information: 

 Particulars Rs. 

Cash 18,000 

Debtors 1,42,000 

Closing stock 1,80,000 

Bills payable 27,000 

Creditors 50,000 

Outstanding expenses 15,000 

Tax payable 75,000 

 

gpd;tUk; tptuj;jpw;F elg;G tpfpjk;> ePh;ik tpfpjk; kw;Wk; Jy;ypa ePh;ik 
tpfpjj;ij fzf;fpLf. 

 Particulars Rs. 
ifapUg;G 18,000 
fldhspfs; 1,42,000 
,Wjpruf;fpUg;G 1,80,000 
nrYj;jw;Fhpa khw;Wr; rPl;L  27,000 
fldPe;Njhh; 50,000 
epYitr; nryTfs; 15,000 
nrYj;j Ntz;ba thp 75,000 

 



1                                                            UG-A-347 
 

             

UG-A-347                                               BCS-35 

U.G. DEGREE EXAMINATION - JUNE 2021  

CORPORATE SECRETARYSHIP 

THIRD YEAR 

PRINCIPLES OF HUMAN RESOURCES MANAGEMENT 

 

Time : 3 Hours                                             Maximum Marks : 75 

 

PART - A                (3 x 5 = 15 Marks) 

Answer any THREE questions. 

1. State the functions of Human Resources Management. 

 kdpjts Nkyhz;ikapd; gzpfis Fwpg;gpLf. 

2. Write down the Training at different levels. 

 gy;NtW epiyfspd; gapw;rp gw;wp vOJf. 

3. Briefly explain various tools of motivation. 

 ce;Jjypd; gy;NtW fUtpfis tpsf;Fq;fs;. 

4. What is Employee discipline?   

gzpahsh; xOf;fk; vd;why; vd;d?  

5.  Write a note on concept of Trade unionism. 

 njhopw;rq;fthjk; fUj;J gw;wp vOJf. 

PART -  B                     (4 x 15 = 60 Marks) 

Answer any FOUR questions. 

 

6. Discuss the scope of Human resources management. 

kdpjts Nkyhz;ikapd; tuk;ngy;iyapid tpthp. 

 7.  Explain various types of Interviews. 

 Neh;Kf fhzypd; tiffis tpthp. 
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8. Discuss the method of performance appraisal 

 nray;jpwd; kjpg;gPl;bd; Kiwfis gw;wp tpthjpf;fTk;. 

 9.  What is compensation Management?  Explain it. 

 Cjpa  Nkyhz;ik vd;why; vd;d?  mjid tpsf;Ff. 

10.  Outline the importance of collective bargaining. 

 $l;L Nguj;jpd; Kf;fpaj;Jtj;ij Nfhbl;Lf; fhl;Lf. 

11.  What are the types of promotion?  Discuss the need for promotion in an 

organisation. 

 gjtp cah;tpd; tiffs; ahit?  epWtdj;jpy; gjtp cah;tpd; Njitia tpthjp. 

12.   Bring out the process in Manpower planning. 

 kdpjrf;jp jpl;lkpLjypd; nray;epiyfis ntspf;nfhzh;f. 

 

 

 

 

 

 

 

 


